149 1)

f(gjsInng(x)—1:>f(x)zlnx+1 1)

Axoun

Oétovpe OmOL X TO Xe
f(zjglnxsf(x)—lzf(gjslnx " = f(%)gln(xe):

=f(x)<Inx+Ine=f(x)<Inx+1 (2)
(1), (2)=>f(x)=1+Inx , ywkaBe x>0

149 2)
f(X)-x<x?<f(x-1)+x=F(x)-x<x* =Ff(x)<x*+x (1)

Axoun

f(X)—XSXZSf(X—1)+X3X2Sf(X—1)+XSf(X—l)ZXZ—XeéTODMégXwHl
:>f(x+1—1)2(x+1)2—(x+1):>f(x)zx2+2x+1—x—1:>f(x)2x2+x (2)
(1), 2 =f(x)=x*+x , ywkabe xR

149 3)

(x2 +1)f (x)< ZXX;jOf (x)< xzzil

1)

Axoun

Oétovupe O6mOL X TO —X f:ngpnn']af(fx)sz(x)

(x2+1)f(x)£2x = (x2+1)f(—x)3—2x =

—(x2+1)<0 _
:>—(x2+1)f(x)£—2x = f(x)=> 2x X

m:f(X)ZXZH 2

(1), @) =F ()= yiaxé0e xeR
X“+1

149 4)

Oétovpe x=y=0

a) f(x+y)=f(x)+f(y)zx+y = f(0)=f(0)+f(0)>0=

f(0)=2f(0)=f(0)<0
:>f(0)22f(0)20:>< o =1|f(0)=0
f(0)>0

Oétovpe 6mVL Y TO —X

B) f(x+y)=f(x)+f(y)=x+y = f(x=x)>f(x)+f(—x)=x—x=

£(0)=0

=f(0)>f(x)+f(—x)=0 = 0=>f(x)+f(—x)=>0=f(x)+f(—x)=0=

=|f(—x)=—f(x)

O¢tovpe y=0 f(O):O

Y f(x+y)=f(x)+f(y)=x+y = f(x)=f(x)+f(0)=x = f(x)=x (1)

Axoun



Oétovpe 6mov X 10 —X f(*X)=*f(X) Srapovpe pe—1<0
()=Ff(x)=x = f(x)2—x = —-f(x)2—x = f(x)<x (2

(1), (2 =f(x)=x ,yakibe xeR



